AL it Mg R AR G I 48 B R T

(At £ EFRFRMETEX)

AN SIS i TR 15

H &f 6412H24H

= ASf134 3HAS31H
(O om o# M

H &% 34 4H 1H

£ M3 3A31H

SF64E1 2 H

= R’






F E H B #F

1 ZEEEMR

RN T2 BREERE B K OBRAR O IE 22 HERFE B 2 HEE - 5 728D, 5 FRTOMIE D HLRIRIC
B DRt Ho a2 RE S RENECTEZ L

2 ZEEORE

BRO LB,



I SHEIEEIE <cvvvvvvvrrrrrrrreeeeeceenneeeeeeeeeaaaaaaasasaassssssssscccccccccnnnncnnnnnss
EEG EHEEREE <o vvvvr ettt i it



£6

HER%

4 MEOFREUIRRICEY S5 E

HAL MEE : km, [EfE : ha

T oM o i owomo s ERY BRSO Ee W
& AR 2 5 3. 00 475 -
/I i3] 1.80 69 -
KoOfE I 1.50 144 -
ANk R K 2. 00 155 -
X oOHOR 1.10 193 -
ol F oA R ® BR 2. 50 206 -
Nk R 1. 50 141 -
5 % 1.50 286 -
L+ LRI 2. 00 104 -
A I 1.00 88 -
B[ B : I SE: S /N 1.80 173 -
at IR 19.70
L] i 0 K M -
# i IR 19.70
o & 0.80 113 -
A R 1. 40 195 -
waE E RO AN (| R o 1.50 146 -
7 o+ 1. 40 124 -
K 1.80 177 -
G 5 B M 6. 90
L] i 0 B M -
# B2y 5 B M 6. 90




BAL SEE : km. HfE : ha

T oM o i owomos ERY BRSO Be W
2 A 2. 10 59 O
M v 2. 50 110 O
X2 5 0. 90 47 O
X HWOE 0. 40 96 -
R 0.53 121 -
Mol 8wk HT )| 5 0. 54 79 -
B G ) &0 1] 0.53 105 -
KA MHE O T 0.75 190 -
45 iy 0. 30 32 -
KX OF W 0.53 73 -
S 0.32 74 -
G 11 B 9. 40
Al ] 3K M 5.50
it H 8 & M 3.90
S 27 B M 36. 00
i TEH] X Al M 3B M 5.50
% M 24 B M 30. 50




HAL EE : km, [HfE : ha

e mom o=k (KRG owomoa GEET BER SO HY wos
=R 0.02 2,773 O
% B
AROE S B [ — & & 4. 66 203 O
B B R 1.63 53 O
b 3B M 6.31
Ll Y 3K M 6.31
# Eet] 0 B M -
K B ME T oA B N E 5 R 0.01 684 -
7 1B 0.01
] E:r] 0 B M -
IS
it Y 1B B 0.01
w B OMAE A& F W moA K 0.02 8 O EHB
i 1 B #® 0.02
Al i 1 B 0.02
% # 0 ¥ # -
GO =S N T N S -2 ) I S 5. 42 584 O
7 1B # 5.42
Ll ] 1B 5. 42
# # 0 B M -
A R 6 B M 11.76
7 B X G 5 & M 11.75
% M 1B 0.01






